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( e® ) Pz @ = o248 + jsin 26
( e® ) P = ( cos@ +jsinf )} = cos?d —sin?d + 2jsin & cos &
o<
cos20 = cos?0 —sin’@
sin28 = ZsinfBcosd
Mmor=xk
e* = cosax+isina
e = cosf+jsinf
gl g = g*Hf = Ql®FE) = eog(a+ B) +jsin(a + B)
el e = (cosa+jsine) - (cosf +jsinf)
= cosa+cosfi —sing " sinf +j(sina "cosf + cosa +sin §)
E-T
cos(a+B) = cosacosp—sina-sinf
sinfe+P) = sina -cosp+ cosa-sinp
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cos{a—f) = cosax:cosf+sina-sinf
sinfe—f) = sina-cosf —cosg+sinf
MEEBAR
. . .t _
sineg 4+ sinf = ZSlnazﬂcns'ﬁEB
, . +8 . _
sine — sinf = 200s> # sin 2"
2 2
+
costiz p = L2 q = 28 sz
@ = p * aq B = p —a IZHHZDTIhZKALT.
sin(p+9) + sin(p—q) = 2sinpcosqg
sin(p+ g) — sin(p—q) = 2co0spsing
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sin® +cos®= +/2sin (0 + :}—I )
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B3 = V/E(sin{i"cus E-l—sing'cust?) ZWE(Tl_sinH-l-Tl_cusE)

W2 W2
= sind + cos &

-h-la
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